EARAROBEEIERT — 2 N— IBISH —F

20185 10A31H (k) 17E&&HE2H

VR B 448 45 %—MH (xwlw | lmEmml - |5 5) wom 8
[A&4] 1 %:250,00 M ~ 23%&:63,000H ~ 33#&:30,000H  43#%:20,000MH  57%:13,000 M
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
: Sy i o4 | SHEKX 1:31.1 4-5-5-4 |38.2| — 3 541 | ETIB—5 (BHE)
T4 RKaAvE— 5.0 (=) (7) | PEHE—ER
RibhZotwr N B:5TNILT = IE—
Py s = i 4 | TR 1:31.3 2-2-2-2 39.0| — 1 431 | BBEX (BHE)
TV EeXIF 54.0 ) e) | R
L:7VF—-v B:L—-XIXbLZX [hilkse
. = # 8 | AWE— 1:31.6 5-3-3-3 [39.1| — 2 483 | |OFEE (BHE)
L4 70-7 54.0 (11/2) -1) KFFFER
R ZAZXH=w R B XZXHT70-5 [QCRSDE ¢ ]
SV s 4 | RINARI 1:32.1 3-3-4-4 |39.6| — 5 450 | SiEBZ (BEE)
JxT7V—94>7 54.0 (2 1/2) (+5) (B) J P NFeHfF
LNMLVTSY BV TTITU— 21455
= 5 | RIS 1:32.5 1-1-1-1 | 40.9| -— 4 422 |$RREX (BHE)
XAYTZ ¥753.0 © (15 | P
RHITEIR BHITEL—T« FAt Fk
R M o4 | =THE _ - = = = — | ROR%X (BHE)
w11 | TTLT %85.0 (BH) () |mmETE
L:Oo—I>J0> BV IIAHTY IR [IT)=2pse ]
® 1—F—@EBIERL
1T=7r= 4,5,6,2,3
2a=5F= 4,5,(3,6),2
30—4+— 4,5,3,6,2
43—7+— |4,53,(2,6)
[ N5
B 2 810M 714K 2-5 140H B E 2-5 310 JEE 2-3-5 150M
B B 2 170 28 150H B H 2<% 1,680 3EE 2= 2,610
5 1004 3-5 100H

ABICOVWTRDTEEERROODE. TR LIV,




